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BERR SRR LI
EC.5
GH=90. 69 CA= 1.7
FH=90. 70 _
D=4.50 RCA=
BA1=
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2.05 | 2.00 BA3= 1.5
1.90__1.90
1.9 1.75
‘ﬂ’r
N e L=5.5
1/@
1.90 | 1.75
3,65
H Cha

BC. 5
6H=93. 27 CA=28
FH=93. 30 _
D=5. 40 RCA=
BAl=
BA2=
2.15 4.20 BA3=
2.00 4.10
2.00 3.95
i
2.00 | 3.95
5.95
AR B IE LR
NO. 3+18.8
6H=90. 39 CA= 1.7
FH=90. 40 _
D=2.30 RCA=
BA1=
2.05 | 2.00 BA2=
1.90__1.90 BA3= 2.4
1.90_ 175
190 | 1.75
3.65
ERER SRR LI
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6H=92. 80 CA=23
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2.00 2.90
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2.00 2.90

4.90
BB AR A AUE LR
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MC. 5
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D=6.45 RCA=
BAl=
BA2=
2.15 | 2.15 BA3=
2.00 | 2.05
2.00 _1.90
i
2.00 ‘ 1.90
3.90
RER SRR AR L 1B
(35 E T € D2EP)
NO. 4+2. 50
6H=89. 92 CA =
FH=89. 92 _
D=2.50 RCA=
BA1=
2.05 | 2.15 BA2=
1.90__2.05 BA3=
190 1.90

NO. 3+12.0
6H=91.26 CA= 1.7
FH=91.28 _
D=5.55 RCA=
BAl=
BA2=
2.05_|_2.00 BA3= 3.0
1.90 1.90
1.90_ 1.75
il
H L=7.9
1.90 | 1.75 /"fg
3.65
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YLiEmEm&E)

B EE(E)

BLZE&)

Y1 iEm

BEkm
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NO.2+11.00

BC.5

5.40

NO.3

3.60

MC.5

6.45

NO.3+12.0

5.95

1.9

21.9

1.9

21.9

EC.5 4.50 5.5 30.2 5.5 30.2
NO.3+18.8 2.30 6.0 13.2 6.0 13.2
NO.4 1.20 5.1 6.7 5.1 6.7

NO.4+2.50

2.50

6.4

6.4

31.50

78.4

78.4
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21.80
31.50
5.40 3.60 6.45 5.55 4.50 2.30 .20 2.50
\\%‘@ K s J’“x@’@
8 EE# - 3 3 = s P R
iﬁﬁ]ﬁ;:ﬁﬁiﬂ]%l g <! 565.6m  (NO. 2+11.00~NO. 3+18. 80) f f 1.75+1.90=3. 65m
/ Gr-C-4E #1%12.0n %7812, 0n
/ HETH (BP~NO. 9+10. 00)
RETCBR 1. 5%k
‘o: £ B I FHEF vy T7R2 L (13)-50
o J
& § =l IEE : BESS Y =52 RGO
J ey
SHET
RETL tET TEI
AR ik B E# miE AR ik B E# miE K& AR ik B E# miE N
NO.2+11.00 71.05 0.04 NO.2+11.00 1.20 0.08 NO.2+11.00 1.20 0.38
BC.5 5.40 5.95 0.04 35.10 [BC.5 5.40 6.10 0.08 35.91 2.87 [BC.5 5.40 6.10 0.38 35.91 13.65
NO.3 3.60 4.90 0.04 19.53 [NO.3 3.60 5.05 0.08 20.07 1.61 [NO.3 3.60 5.05 0.38 20.07 7.63
MC.5 6.45 3.90 0.04 28.38 |[MC.5 6.45 4.05 0.08 29.35 2.35 [MC.5 6.45 4.05 0.38 29.35 11.15
NO.3+12.0 5.55 3.65 0.04 20.95 |[NO.3+12.0 5.55 3.80 0.08 21.78 1.74 [NO.3+12.0 5.55 3.80 0.38 21.78 8.28
EC.5 4.50 3.65 0.04 16.43 |[EC.5 4.50 3.80 0.08 17.10 1.37 |[EC.5 4.50 3.80 0.38 17.10 6.50
NO.3+18.8 2.30 3.65 0.04 8.40 |[NO.3+18.8 2.30 3.80 0.08 8.74 0.70 [NO.3+18.8 2.30 3.80 0.38 8.74 3.32
NO.4 1.20 NO.4 1.20 NO.4 1.20
NO.4+2.50 2.50 NO.4+2.50 2.50 NO.4+2.50 2.50
&5t 31.50 128.79 &it 31.50 132.95 10.64 8E&t 31.50 132.95 50.53
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BC.5 5.40 5.95 35.10 0.04 1.40
NO.3 3.60 4.90 19.53 0.04 0.78
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IT HEHFEE BERRBISER

T
p:(P=1 EE R g1 (CA) =1EHI(RCA) BT 1(BA1) T 2BA2) B T 3(BA3)
mis 35 miE 35 mis 35 mis 35 miE 35

BP 1.8
EC.1 4.30 1.5 7.1 0.2 0.4
BC.2 0.80 1.6 1.2 0.1 0.1
NO.0+9.50 4.40 1.7 1.3 0.1 0.4
MC.2 3.60 2.1 6.8 0.2
NO.0+14.50 1.40 2.5 3.2
NO.1 5.50 1.9 12.1
EC.2 1.10 2.0 2.1
BC.3 1.50 1.7 2.8
NO.1+7.60 5.00 1.7 8.5
MC.3 2.45 1.8 4.3
EC.3 7.45 1.4 11.9
NO.2 2.50 1.3 3.4
NO.2+18.80 18.80 1.3 24.4
NO.3 1.20 1.1 1.4
NO.3+16.30 16.30 1.2 18.7
NO.3+19.30 3.00 1.3 3.8
IP.4 0.30 1.3 0.4
NO.4 0.40 2.5 0.8
BC.5 7.10 3.0 19.5
NO.4+15.00 7.90 2.9 23.3 0.1 0.4
NO.5 5.00 3.1 15.0 1.2 3.3
MC.5 1.95 3.3 6.2 1.3 2.4
EC5 14.85 2.3 41.6 0.8 15.6
NO.6 3.20 2.3 1.4 0.6 2.2
NO.6+13.00 13.00 2.3 29.9 3.7 24.1 6.2 44.2
NO.7 7.00 2.2 15.8 13.0 21.7
BC.7 16.10 2.5 37.8
NO.7+17.00 0.90 2.5 2.3
NO.8 3.00 2.4 1.4

/st 157.00 326.4 37.1 90.9




IT HEHFEE BERRBISER

p:(P=1 iz 3 g1 (CA) =1EHI(RCA) BT 1(BA1) HE T 2BA2) B T 3(BA3)
mis 35 miE 35 mis 35 mis 35 miE 35
NO.8 3.00 2.4
NO.8+5.90 5.90 1.2 10.6
MC.7 2.70 1.2 3.2
NO.8+13.20 4.60 1.1 5.3
NO.9 6.80 1.1 1.5
EC.7 1.10 1.0 1.2
NO.10 18.90 1.1 19.8
NO.10+13.50 13.50 1.2 15.5
NO.11 6.50 1.1 1.5
NO.11+12.50 12.50 1.4 15.6 0.1 0.6
IP.8 5.30 1.3 1.2 0.3
NO.12 2.20 1.2 2.8
NO.12+9.30 9.30 1.2 11.2
NO.13 10.70 1.1 12.3
NO.13+12.10 12.10 1.2 13.9
NO.14 7.90 1.1 9.1
NO.14+4.00 4.00 1.2 4.6
NO.15 16.00 1.1 18.4
BC.9 0.10 1.0 0.1
MC.9 6.10 1.1 6.4
EC.9 6.10 1.1 6.7
NO.16 7.70 1.2 8.9
NO.16+9.00 9.00 1.1 10.4
IP.10 4.50 1.1 5.0 6.1 13.7
NO.17 6.50 1.3 1.8 4.4 14.3 1.8 45.2
BC.11 1.20 1.3 1.6 8.5 1.1 9.2 10.2
NO.17+3.90 2.70 1.3 3.5 115 2.8 16.2
NO.17+8.00(EP) 410 15 5.7 2.7
T 4R 59.2
/st 191.00 281.0 335 91.9
a5t 348.00 607.4 70.6 182.8
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BP
EC.1 4.30 0.4 0.9 0.4 0.9
BC.2 0.80 0.3 0.3 0.3 0.3
NO.0+9.50 4.40 05 1.8 05 1.8
MC.2 3.60 0.9 0.9
NO.0+14.50 1.40
NO.1 5.50
EC.2 1.10
BC.3 1.50
NO.1+7.60 5.00
MC.3 245
EC.3 7.45
NO.2 2.50
NO.2+18.80 18.80
NO.3 1.20
NO.3+16.30 16.30




NO.3+19.30 3.00
IP.4 0.30
NO.4 0.40
BC.5 7.10
NO.4+15.00 7.90
NO.5 5.00
MC.5 1.95 0.5 0.5 0.5 0.5
EC.5 14.85 1.7 16.3 1.7 16.3
NO.6 3.20 0.5 3.5 0.5 3.5
NO.6+13.00 13.00 12.7 85.8 12.7 85.8
NO.7 7.00 445 445
BC.7 16.10
NO.7+17.00 0.90

NGt 157.00 154.5 154.5
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R [ R [ R [EE R [ LLARKI
NO.7+17.00
NO.8 3.00
NO.8+5.90 5.90
MC.7 2.70
NO.8+13.20 4.60
NO.9 6.80
EC.7 1.10
NO.10 18.90
NO.10+13.50 13.50
NO.11 6.50
NO.11+12.50 12.50
IP.8 5.30
NO.12 2.20
NO.12+9.30 9.30
NO.13 10.70
NO.13+12.10 12.10




NO.14 7.90

NO.14+4.00 4.00

NO.15 16.00

BC.9 0.10

MC.9 6.10

EC.9 6.10

NO.16 7.70

NO.16+9.00 9.00

IP.10 450 10.0 225 10.0 225

NO.17 6.50 16.7 86.8 16.7 86.8

BC.11 1.20 16.5 19.9 16.5 19.9

NO.17+3.90 2.70 8.0 33.1 8.0 33.1

NO.17+8.00(EP) 410 16.4 16.4
INEE 191.00 178.7 178.7
a&t 348.00 333.2 333.2
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WEIE | BRER | MRS | BILEER

BP 6.07 0.04
EC.1 4.30 9.97 25.89 0.04 1.04
BC.2 0.80 6.02 4.80 0.04 0.19
NO.0+9.50 4.40 6.82 28.25 0.04 113
MC.2 3.60 8.00 26.68 0.04 1.07
NO.0+14.50 1.40 8.85 11.80 0.04 0.47
NO.1 5.50 6.62 42.54 0.04 1.70
EC.2 1.10 6.52 1.23 0.04 0.29
BC.3 1.50 6.22 9.56 0.04 0.38
NO.1+7.60 5.00 222 21.10 0.04 0.84

2.15 0.04
MC.3 245 2.35 9.51 0.04 0.22
EC.3 1.45 2.35 17.51 0.04 0.70
NO.2 2.50 1.80 9.19 0.04 0.21
NO.2+18.80 18.80 4.20 96.40 0.04 2.26
NO.3 1.20 4.20 5.04 0.04 0.20
NO.3+16.30 16.30 4.20 68.46 0.04 2.74

4.27 0.04
NO.3+19.30 3.00 447 13.11 0.04 0.52
IP.4 0.30 447 1.34 0.04 0.05
NO.4 0.40 447 1.79 0.04 0.07
BC.5 1.10 4.82 32.98 0.04 1.32
NO.4+15.00 1.90 4.57 37.09 0.04 1.48
NO.5 5.00 4.12 21.73 0.04 0.87
MC.5 1.95 4.87 8.77 0.04 0.35
EC.5 14.85 3.72 63.78 0.04 2.55
NO.6 3.20 3.55 11.63 0.04 0.47
NO.6+13.00 13.00 2.92 42.06 0.04 1.68
INEE 133.00 570.24 22.80
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NO.6+13.00 2.92 0.04
NO.7 1.00 3.55 22.65 0.04 0.91
BC.7 16.10 4.17 62.15 0.04 2.49
NO.7+17.00 0.90 4.32 3.82 0.04 0.15
NO.8 3.00 4.27 12.89 0.04 0.52
NO.8+5.90 5.90 4.32 25.34 0.04 1.01

4.25 0.04
MC.7 2.70 4.15 11.34 0.04 0.45
NO.8+13.20 4.60 4.05 18.86 0.04 0.75
NO.9 6.80 3.75 26.52 0.04 1.06
EC.7 1.10 3.80 4.15 0.04 0.17
NO.10 18.90 3.75 71.35 0.04 2.85
NO.10+13.50 13.50 4.25 54.00 0.04 2.16
NO.11 6.50 3.65 25.68 0.04 1.03
NO.11+12.50 12.50 3.98 47.69 0.04 1.91
IP.8 5.30 4.00 21.15 0.04 0.85
NO.12 2.20 4.05 8.86 0.04 0.35
NO.12+9.30 9.30 4.20 38.36 0.04 1.53
NO.13 10.70 4.15 44.67 0.04 1.79
NO.13+12.10 12.10 4.20 50.52 0.04 2.02
NO.14 1.90 4.15 32.98 0.04 1.32
NO.14+4.00 4.00 4.10 16.50 0.04 0.66
NO.15 16.00 3.95 64.40 0.04 2.58
BC.9 0.10 4.00 0.40 0.04 0.02
MC.9 6.10 3.65 23.33 0.04 0.93
EC.9 6.10 3.70 22.42 0.04 0.90
NO.16 1.10 3.70 28.49 0.04 1.14
NO.16+9.00 9.00 3.85 33.98 0.04 1.36
INEE 196.00 772.50 30.91




SERERTI HEHFE ESRBISER

i s S IRARE T - B ILE T
B R R EE HEE | RNEKE

NO.16+9.00 3.85 0.04
IP.10 4.50 4.05 17.78 0.04 0.71
NO.17 6.50 4.55 27.95 0.04 112
BC.11 1.20 4.35 5.34 0.04 0.21
NO.17+3.90 2.70 4.50 11.95 0.04 0.48
NO.17+8.00(EP) 410 4.90 19.27 0.04 0.77

INET 19.00 82.29 3.29

a5t 348.00 1425.03 57.00

£ ¥R VSR SER HE BAfL ik

| FHAREYIBT T 6.07(BP) + 4.90(EP) 10.97 m
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